
1
2

3

4

5

6

7

8

1

NR. Description MA Item Number
Defa
ult/Qt

y
1 1271x944mm 8047067 6

2 230x198mm 8044681 6

3 MVBF A2-70 M8x30 ISO 8677 8039278 42

4 Ø8,5x27x4 mm 8005959 42

5 Cap 8, Ø27x12 mm 8005956 42

6 Ø9x18x2 mm 8008849 
(326017) 42

7 M6M -8 M8 ISO 7042 8042809 42

8 Cover 8, Ø18x10mm 8005958 42 TB ToB 2017-09-28 4

MASW38975
 1 ( 6)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

Hexagon Roof
HAGS



9

13

12

11

10

 6
00

 

2A WOODEN POSTS

NR. Description MA Item Number
Defa
ult/Qt

y
9 260x304mm 8044705 1

10 Ø117x50 mm 260468 1

11 Ø11x24x2 mm 8008850 
(326018) 1

12 T6S 10x100 mm 310205 1

13 Cover 10, Ø25x12mm 8005963 
(261814) 1 TB ToB 2017-09-28 4

MASW38975
 2 ( 6)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

Hexagon Roof
HAGS



9

21

10

11
22

13

 6
00

 

2B STEEL POSTS

NR. Description MA Item Number
Defa
ult/Qt

y
9 260x304mm 8044705 1

10 Ø117x50 mm 260468 1

11 Ø11x24x2 mm 8008850 
(326018) 1

13 Cover 10, Ø25x12mm 8005963 
(261814) 1

21 Expandable tray for steel post. 8009446 1

22 M6S M10x70 8008385 1 TB ToB 2017-09-28 4

MASW38975
 3 ( 6)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

Hexagon Roof
HAGS



3

4

6
7

5

8

15 14

15
14

3A WOODEN POSTS

NR. Description MA Item Number Qty
3 MVBF A2-70 M8x30 ISO 8677 8039278 42

4 Ø8,5x27x4 mm 8005959 42

5 Cap 8, Ø27x12 mm 8005956 42

6 Ø9x18x2 mm 8008849 
(326017) 42

7 M6M -8 M8 ISO 7042 8042809 42

8 Cover 8, Ø18x10mm 8005958 42

14 8x21,4x4,5 mm 8035288 21

15 TKFT 8x60 mm 8008646 21 TB ToB 2017-09-28 4

MASW38975
 4 ( 6)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

Hexagon Roof
HAGS



3

4

6

7

5

8

16

250

Ø7,3

MAX 400rpm
16

MAX 400rpm
250

Ø7,3

3B STEEL POSTS

NR. Description MA Item Number Qty
3 MVBF A2-70 M8x30 ISO 8677 8039278 42

4 Ø8,5x27x4 mm 8005959 42

5 Cap 8, Ø27x12 mm 8005956 42

6 Ø9x18x2 mm 8008849 
(326017) 42

7 M6M -8 M8 ISO 7042 8042809 42

8 Cover 8, Ø18x10mm 8005958 42

16 KTS-GF M8x25 mm 302899 21 TB ToB 2017-09-28 4

MASW38975
 5 ( 6)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

Hexagon Roof
HAGS



3

4
5

6
7

8

17

4

NR. Description MA Item Number Qty
3 MVBF A2-70 M8x30 ISO 8677 8039278 42

4 Ø8,5x27x4 mm 8005959 42

5 Cap 8, Ø27x12 mm 8005956 42

6 Ø9x18x2 mm 8008849 
(326017) 42

7 M6M -8 M8 ISO 7042 8042809 42

8 Cover 8, Ø18x10mm 8005958 42

17 123x60mm 8047056 6 TB ToB 2017-09-28 4

MASW38975
 6 ( 6)

ANEBY, SWEDEN
+46(0)380-
47300
www.hags.com

Hexagon Roof
HAGS


	Sheet1
	Drawing View1
	Detail View A (1 : 2)

	Sheet2
	Drawing View3
	Detail View B (1 : 10)
	Detail View F (1 : 2)
	Drawing View43

	Sheet3
	Drawing View63
	Detail View I (1 : 10)
	Detail View J (1 : 2)
	Drawing View66

	Sheet4
	Drawing View5
	Detail View C (1 : 5)
	Detail View D (1 : 5)

	Sheet5
	Drawing View44
	Detail View  (1 : 5)
	Detail View  (1 : 5)

	Sheet6
	Drawing View22
	Detail View E (1 : 5)


